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QUESTION 1

When administering phenytoin (Dilantin) to a child, the nurse should be aware that a toxic effect of phenytoin therapy is: 

A. Stephens-Johnson syndrome 

B. Folate deficiency 

C. Leukopenic aplastic anemia 

D. Granulocytosis and nephrosis 

Correct Answer: A 

(A) Stephens-Johnson syndrome is a toxic effect of phenytoin. (B) Folate deficiency is a side effect of phenytoin, but not
a toxic effect. (C) Leukopenic aplastic anemia is a toxic effect of carbamazepine (Tegretol). (D) Granulocytosis and
nephrosis are toxic effects of trimethadione (Tridione). 

 

QUESTION 2

A 25-year-old client believes she may be pregnant with her first child. She schedules an obstetric examination with the
nurse practitioner to determine the status of her possible pregnancy. Her last menstrual period began May 20, and her
estimated date of confinement using Nägele\\'s rule is: 

A. March 27 

B. February 1 

C. February 27 D. January 3 

Correct Answer: C 

(A)March 27 is a miscalculation. (B) February 1 is a miscalculation. (C) February 27 is the correct answer. To calculate
the estimated date of confinement using Nagele\\'s rule, subtract 3 months from the date that the last menstrual cycle
began and then add 7 days to the result. (D) January 3 is a miscalculation. 

 

QUESTION 3

A male client tells his nurse that he has had an ulcer in the past and is afraid it is "flaring up again." The nurse begins to
ask him specific questions about his symptoms. The nurse knows that a symptom that might indicate a serious
complication of an ulcer is: 

A. Pain in the middle of the night 

B. A bowel movement every 3? days 

C. Melena 

D. Episodes of nausea and vomiting 

Correct Answer: C 
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(A) Clients with ulcers generally experience abdominal pain. It is common to have pain in the early morning hours with
an ulcer. (B) Constipation is not a symptom associated with ulcers and would indicate a need to look at other factors.
(C) Melena is blood in the stools. This could indicate a slow bleeding ulcer, which could result in significant amounts of
blood loss over time.(D) Nausea and vomiting may be present as a result of the ulcer, especially if it is a gastric ulcer.
This does not indicate an immediate life-threatening complication. 

 

QUESTION 4

A measurable outcome criterion in the nursing care of an adolescent with anorexia nervosa would be: 

A. Accepting her present body image 

B. Verbalizing realistic feelings about her body 

C. Having an improved perception of her body image 

D. Exhibiting increased self-esteem 

Correct Answer: B 

(A) This outcome criterion is inadequate because the term "accepts" is not directly measurable. (B) This outcome
criterion is directly measurable because specific goal-related verbalizations can be heard and verified by the nurse. (C)
"Improved perception of body image" is not directly measurable and is therefore open to many interpretations. (D)
Although long-term goals for the anorexic client should focus on increased self-esteem, this outcome criterion (as
stated) does not include specific indicators or behaviors for which to observe. 

 

QUESTION 5

The 4th of July holiday comes while a client is in the hospital being treated for schizophrenia. She is taking
chlorpromazine and has improved to the point of being allowed to go with a group to the park for a picnic. The side
effect of chlorpromazine that the nurse needs to keep in mind during this outing is: 

A. Hypotension 

B. Photosensitivity 

C. Excessive appetite 

D. Dryness of the mouth 

Correct Answer: B 

(A) A decrease in blood pressure sometimes occurs with chlorpromazine. It would not be a factor influenced by a picnic
in the park. (B) Protection from the sun is important in clients taking phenothiazines because they burn easily and
severely. (C) An appetite increase sometimes occurs with chlorpromazine. It would not be affected by a picnic. (D)
Dryness of the mouth may occur at any time and is not affected by the picnic outing. 

 

QUESTION 6

A child has a nursing diagnosis of fluid volume excess related to compromised regulatory mechanisms. Which of the
following nursing interventions is the most accurate measure to include in his care? 
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A. Weigh the child twice daily on the same scale. 

B. Monitor intake and output. 

C. Check urine specific gravity of each voiding. 

D. Observe for edema. 

Correct Answer: A 

(A) Although all of these interventions are important aspects of care, weight is the most sensitive indicator of fluid
balance. (B) Although monitoring intake and output is important, weight is a more accurate indicator of fluid status. (C)
Urine specific gravity does not necessarily indicatefluid volume excess. (D) Edema may not be apparent, yet the client
may have fluid volume excess. 

 

QUESTION 7

After several days, an IDDM client\\'s serum glucose stabilizes, and the registered nurse continues client teaching in
preparation for his discharge. The nurse helps him plan an American Diabetes Association diet and explains how foods
can 

be substituted on the exchange list. He can substitute 1 oz of poultry for: 

A. One frankfurter 

B. One ounce of ham 

C. Two slices of bacon 

D. One-fourth cup dry cottage cheese 

Correct Answer: D 

(A) A frankfurter is a high-fat meat on the diabetic exchange list. (B) Ham is a medium-fat meat on the diabetic
exchange list, unless it is a center-cut slice. (C) One strip of bacon equals onefatexchange rather than ameatexchange.
Dietary substitutions should occur within exchange lists and not between exchange lists. (D) Diabetic meat-exchange
lists are categorized into leanmeat foods, medium-fat meats, and high-fat meats. Cottage cheese (dry, 2% butterfat),
one-fourth cup, can substitute for one lean-meat exchange. 

 

QUESTION 8

In assessing the nature of the stool of a client who has cystic fibrosis, what would the nurse expect to see? 

A. Clay-colored stools 

B. Steatorrhea stools 

C. Dark brown stools 

D. Blood-tinged stools 

Correct Answer: B 
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(A) Clay-colored stools indicate dysfunction of the liver or biliary tract. (B) In the early stages of cystic fibrosis, fat
absorption is primarily affected resulting in fat, foul, frothy, bulky stools. (C) Dark brown stools indicate normal passage
through the colon. (D) Blood-tinged stools indicate dysfunction of the gastrointestinal (GI) tract. 

 

QUESTION 9

A 24-year-old graduate student recognizes that he has a phobia. He suffers severe anxiety when he is in darkness. It
has altered his lifestyle because he is unable to go to a movie theater, concert, and other events that may require
absence of light. The client is seeking assistance because he is no longer able to socialize with friends due to his
phobia. The psychologist working with him is using desensitization. He has asked the nursing staff to assist the client in
muscle relaxation techniques. What result would indicate client education has been successful? 

A. He enters a movie theater, sits in his chair, and replaces anxiety with relaxation as the theater darkens. 

B. He enters a concert, but as the lights dim, he does not experience anxiety. 

C. He states that he no longer fears dark places. 

D. He takes a part-time job as a photographic assistant. His job necessitates his working in a darkroom. 

Correct Answer: A 

(A) This situation provides specific evidence that the client is able to integrate muscle relaxation technique into his
lifestyle to alleviate anxiety. (B) The client may not experience anxiety at the concert, but there is no evidence regarding
the technique that he used to alleviate anxiety. (C) The client may state he no longer experiences anxiety, but there is
no evidence demonstrating this. He may be denying anxiety to discontinue therapy prematurely. (D) Does he
experience anxiety in the darkroom? He may have taken this job to force himself to deal with the phobia directly. 

 

QUESTION 10

A client\\'s record from the ED indicates that she overdosed on phenelzine sulfate (Nardil), a monoamine oxidase (MAO)
inhibitor. Which diet would be the most appropriate at this time? 

A. High carbohydrate, low cholesterol 

B. High protein, high carbohydrate 

C. 1 g sodium 

D. Tyramine-free 

Correct Answer: D 

(A) There are no data to support the need for increased carbohydrates or decreased cholesterol in the diet. (B) There is
no data to support the need for increased protein or increased carbohydrates in the diet. (C) There is no assessment or
laboratory data indicating that sodium should be restricted in the diet. (D) Tyramine is an amino acid activated by MAO
in the liver and intestinal wall. It is released as proteins are hydrolyzed through aging, pickling, smoking, or spoilage of
foods. When MAO is inhibited, tyramine levels rise, stimulating the adrenergic system to release large amounts of
norepinephrine, which can produce a hypertensive crisis. 

 

QUESTION 11
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A 14-year-old boy fell off his bike while "popping a wheelie" on the dirt trails. He has sustained a head injury with
laceration of his scalp over his temporal lobe. If he were to complain of headache during the first 24 hours of his
hospitalization, the nurse would: 

A. Ask the physician to order a sedative 

B. Have the client describe his headache every 15 minutes 

C. Increase his fluid intake to 3000 mL/24 hr 

D. Offer diversionary activities 

Correct Answer: D 

(A) CNS depressants are not given for headache due to head injury because they would mask changes in neurological
status and because they could further depress the CNS. (B) The client should not be asked to think about his headache
every 15 minutes. (C) Fluid intake should be normal or restricted for a client with a head injury. Normal fluid intake for a
14 year old is about 2000?400 mL daily. (D) Diversion may help the child to focus on a pleasant activity instead of on his
headache. 

 

QUESTION 12

A 10-year-old client with a pin in the right femur is immobilized in traction. He is exhibiting behavioral changes including
restlessness, difficulty with problem solving, inability to concentrate on activities, and monotony. Which of the following
nursing implementations would be most effective in helping him cope with immobility? 

A. Providing him with books, challenging puzzles, and games as diversionary activities 

B. Allowing him to do as much for himself as he is able, including learning to do pin-site care under supervision 

C. Having a volunteer come in to sit with the client and to read him stories 

D. Stimulating rest and relaxation by gentle rubbing with lotion and changing the client\\'s position frequently 

Correct Answer: B 

(A) These activities could be frustrating for the client if he is having difficulty with problem solving and concentration. (B)
Selfcare is usually well received by the child, and it is one of the most useful interventions to help the child cope with
immobility. (C) This may be helpful to the client if he has no visitors, but it does little to help him develop coping skills.
(D) This will helpto prevent skin irritation or breakdown related to immobility but will not help to prevent behavioral
changes related to immobility. 

 

QUESTION 13

A client has just received an epidural block. She is laboring on her right side. The nurse notes that her blood pressure
has dropped from 132/68 to 78/42 mm Hg. The nurse\\'s first action would be to: 

A. Call the physician immediately and give dopamine IM 

B. Turn her on her left side and recheck her blood pressure in 5 minutes 

C. Administer oxytocin (Pitocin) immediately and increase the rate of IV fluids 
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D. Increase the rate of IV fluids and start O2 by mask 

Correct Answer: D 

(A) Nursing measures to support fetal oxygenation and promote maternal blood pressure would precede calling the
physician. (B) Systolic pressures below 100 mm Hg or a reduction in the systolic pressure of>30% necessitate
treatment. Assessing the blood pressure in 5 minutes may allow for further fetal and/or maternal compromise. Turning
the client on her left side will promote uteroplacental perfusion and is appropriate. (C) Oxytocin (Pitocin) increases the
strength of uterine contractions and may cause maternal hypotension; thus it is an inappropriate drug for use in this
clinical situation. IV fluids would be increased to expand the circulating blood volume and promote increased blood
pressure. (D) Turning the mother to her left lateral side promotes uteroplacental perfusion. IV fluids are administered to
increase the circulating blood volume, and O2 is administered to promote fetal oxygenation and decrease the nausea
accompanying the hypotension. 

 

QUESTION 14

On a mother\\'s 2nd postpartum day after having a vaginal delivery, the RN is preparing to assess her perineum and
anus as part of her daily assessment. The best position for the client to be placed in for this assessment is: 

A. Sims\\' 

B. Fowler\\'s 

C. Prone 

D. Any position that the RN chooses 

Correct Answer: A 

(A) The Sims\\' position is the best position for assessment of the perineum and anus. The top leg is placed over the
bottom leg, and the RN raises the upper buttocks to fully expose the perineum and anus. (B) Fowler\\'s position is a
sitting position, and the perineum and anus would not be exposed. (C) The prone position would have the mother on her
back, and her perineum and anus would not be exposed. (D) The position of choice should always be the Sims\\'. 

 

QUESTION 15

The parents of a 2-year-old child are ready to begin toilet training activities with him. His parents feel he is ready to train
because he is now 2 years old. What would the nurse identify as readiness in this child? 

A. Patience by the child when wearing soiled diapers 

B. Communicating the urge to defecate or urinate 

C. The child awakening wet from his naps 

D. The age at which the child\\'s siblings were trained 

Correct Answer: B 

(A) Children experience impatience with soiled diapers when readiness for training is apparent. They often desire to be
changed immediately. (B) A child must be able to use verbal or nonverbal skills to communicate needs. (C) A readiness
indicator would be awaking dry from naps. (D) The age at which a sibling was toilet trained has no implications for
training this child. 
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